EARAROBEEIERT — 2 N— IBISH —F

20178118198 (H) SHEER6H

Ll T oR2m B (RS)

Z=)

[($57E] Fikb

‘ [R1%] & ‘ [REBE] — | Z (%) 18000 B

[A~&£] 17 :7,000,000  ~ 23 :2,800,000 37 :1,800,000

/473 11,100,000 5 7& :700,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
o — . Le i+ o | iRER— 1:51.4 -3-4 3| 78. 2 KPIIETE (355#)
115|7|77APTE=X * 55.0 =) o R R (5_0) BRSA SV
LNnN—E>TPrv— BIYIIILTE-ZX VA N
S s 2 | FlEEKX 1:51.6 3-3-2 |33.6|76.0 | 1 510 | BERRER (5ER)
] 5| A—K&T 12 F 55.0 (1" 1/4) (—) | @) o-—Ff-2557
R:A—KHFO7 BLF4TF—F1Rb HTATAT7— LI
o SN s | AEfEE 1:51.8 14-11-11 | 33.0 | 74.7 | 4 | 484 |AHEH (EH)
31813/ NIV RINA 55.0 (1 1/2) (=) |H Ho>za7-ENnLE
A:Dubawi FB:RKy T4 A—L— - T vy Ty—LERS
AP o2 | SHEK 1:51.8 3-5-4 |33.6(73.9 | 3 444 | SO ()
41814 7L ¥ ¥R =T 55.0 (7€) —) | @ FrF-r-—s2y
ATz —J) B:oO0-N—-1)—7 =Y Tr—L
— 4 2 | ALHERRE 1:51.9 6-8-7 33.4] 731 | 1 450 | PEEEZ (EH)
EH 9 N—E><F 54.0 (1/2) (-) FRORE—ER
LNn—ErTv— BE YT F BRI EKKE
= 5= 555 f 2 | SHEEE 1:51.9 10-11-11 [33.1| 73.4 | 7 436 | AFIERK (35i)
6l5lg| 273757 54.0 (1NF) () |temE
R:ANTz—FI B4 X T LAY — e EE 45035
= o 4 o2 | BUBEHE 1:52.0 13-14-13 [33.0| 72.5 | 8 468 | SIEHE (EH)
700 10| NTRRTET A52.0 (5¥) (=) |EEITHOF
LN—=-Y7514 B:7717>KF HE $RE
. KEFRIR : -0 BEHL (EH)
3| A AT o2 e 1(.15/22.)1 222 [34.1]|67.3| 9 (412) et
R:ZRFAT—I K B:XEZ—FaIyk AXET21-T7—L4
; o2 _ o2 | EPR 1:52.1 9-8-7 |33.6| 70.6 | 6 434 | BINARK (i)
Y 3 ALY 54.0 (7€) (—) | BHES
R:Z7Y—b—O— A OrYr BT 7 — 4
S kAR, o 4 2 | HligE, 1:52.3 10-8-7 [33.8| 68.3 | 2 488 | FRBEE ()
1] < i ek S [ 55.0 (1 1/4) (=) |HEADEZ
R:F4—TALNT N BRIy b 55 Ris
— RETEN FHE—H : -1- BRRE (%#)
N BB o2 fie 1752t5°, 1-1-1 | 34.4]63.0 | 13 (452> BRE
:Aa-I>790> B:FIZHLTY HET7—L
= e HHE : -5 KEEL (E#)
™ EEEZEE A i 2 Pk 1(/75%:) 6-5-4 [34.2]64.0 | 10 (410) EE?@%
L:7A7% B:IIXPPE-UZ HET7— L4
. o 4t 2 | RELESE 1:52.5 8-7-7 [34.0| 65.1 | 12 | 436 |FEER (i)
1311|711 >ANRYTZ 55.0 (3/4) (=) (HE)E"J{‘/
RAFAT—N K B:OXETIEZ ARET2—T7—L
. 4 oo | HElif— _ 10-11 - — 14 506 | /\GfREh (Ei)
%% 7|12| 77 AR T =¥ 55.0 (chib) (—) AHER
LIAY>T7Fya BLRTELICIALE 4= FHIS
@ 21 L
£y 46.1-33.5
NO>24 L | 13.0-12.5-13.3-13.4-13.1-12.6-11.6-10.8-11.1
® I—F—@EBIERL
13—7-
20—4— (¥2,3) (5,14)7(6,9)1,4-(8,12,11)10,13
30—4-— (¥2,3) (7,5) (6,14)1(4,9,11) (8,12,13)10
43—+ — (x2,3,5) (7,6,14) (1,4,9,11)-(8,13)10 12
[ RN
-y 7 1,220 | | 74 K 5-7 570/ | | # = 4-5 1,070 | | 3:&=4& 5-7-13 2,970M
# B 7 270M 7-13 1,110H B E 5-7 1,530M EE 7-5-13 20,070
5 140 5-13 4209 B H 7-5 4,330M
13 210M

ABICOVWTRDTEEERROODE. TR LIV,




